A I EZAE

N = O &

HH: 2H ZEXY MH 2E
Sol: AN FQAH e

A E E Al

A

_ _ _ N E
SN B SRA(SIH) - MBAY - BAS oy o HlnE2
2l 2 Ate 12,668,847 14,625,720 21,956,873
= 26,299
Al 23,661
- 12,618,887
=3 ZEXNE HAH 2= 291,067 234,750 56,317
Al 23,661
- 267,406
& =LA 22| 100,000 56,000 44,000
TEHAH & HOIAY MEHH FX 100,000 56,000 44,000
201 Et2Ed| 45,000 48,000 23,000
01 AR 2teld| 45,000 48,000 23,000
Ogel=gHl 45,000
oFRYUP HEM HZE 20,0003 *100F*23] 4,000
oAET FHFUREIDINE M (AEAAIZE
F THURE0 ¥ 3Nz S
) 20,000, 000& 20,000
oR&EEE w2t 20,000& 5005 10,000
o REEA 22t 100,000 1005 10,000
OArRMEZB X | At &2t 20,000& 505 1,000
203 g =&l 5,000 8,000 23,000
03 Al =& 28| 5,000 8,000 23,000
OJ1& ANHFE 2,000,000& 2,000
Oog&Egos =& 3,000, 000& 3,000
207 &I 50,000 0 50,000
01 A E | 50,000 0 50,000
Oo47 ALB2ARY £ EBYH 2E B
50,000, 000& 50,000
=.UHe nFRgd & 124,650 124,650 0
sHLE g5 X& 11,000 11,000 0
203 R =&l 11,000 11,000 0
03 AIMZ=X AR =Y 11,000 11,000 0
OZUHTIMEA RIAMEFE 3,000, 000& 3,000
oJgs #2¢ 8,000, 000& 8,000
=2us =X 110,500 110,500 0
201 gEt2Ed| 7,500 7,500 0
02 2323l 7,500 7,500 0
O=HsX& Jls 2€3 7,500,000& 7,500
202 (44l 100,000 100,000 0
03 =2LR NI 50,000 50,000 0
ORSUEFH 30,000, 000& 30,000




A I ZAA
M 2 SEXNE WA 2=

o9l 2. U nERE =7 (e @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
SEVREESY 20,000,0002 20,000
04 = HI 301 50,000 50,000 0
Odtel = Lot 50,000, 0002 50,000
203 R =Yl 3,000 3,000 0
03 Al ERY R =X Y| 3,000 3,000 0
ORANWZAIDBAISZE 3,000, 0002 3,000
2R HE Al BAIEO S22 3, 150 3,150 0
201 Lur2 Y| 1,200 1,200 0
01 ALR eIt 1,200 1,200 0
oguxtz 1,200
oHAURR 600,000 #1CH 22 1,200
301 YA 1,950 1,950 0
NEVEE! 1,950 1,950 0
Ol 20,0002 %302 x22 1,200
Oty 50,0002 * 154! 750
SR 2el 66,417 54,100 12,317
Al 23,661
2 42,756
SHIE AR 2Y 17,650 18,034 A384
101 Q1214 4,950 5,334 ~384
UPIEREES=TPS 4,950 5,334 384
OSAHNSEES 42,6702 %121 *116L 4,950
201 Lur2 Y| 12,700 12,700 0
01 ALR eIt 12,700 12,700 0
LIRS -= 1 11,500
o RI173l SHeE w2t 26,0008 %2502 6,500
0201EDIZE ARHMIIZSHEAMS DN 22t
20,0002 *2502 5,000
OF4I| ANZ(SHIYAY S)
10,0002 128 1,200
SHZA 3 (20119 JIE AL HEA) 28,674 26,744 1,930
Al 14,337
2 14,337
101 Q1214 9,580 6,760 2,820
Al 4,790
2 4,790
04 JIAM2R IS E4 9,580 6,760 2,820
OAHEAL 12| 9,580, 0002 9,580
Al 4,790
2 4,790
201 Lur2 | 18,494 19,384 890




SN

X{ ZH -
S = -

JEETINN
7 s A 7E

ool SHEER 22 (el &
_ _ _ N E
SM-EH . C(BH) - HRAY - B2 0 Ak Sl aton HRs2
Al 9,247
- 9,247
01 AR 2teld| 18,494 19,384 A 890
ot 18,494
O AP M EAL BALR S 18,494,000& 18,494
Al 9,247
- 9,247
202 ¢4 4l 600 600 0
Al 300
- 300
01 =2 WA bl 600 600 0
OAE AL AIEEE Kl 600, 000& 600
Al 300
- 300
SHEZA £ (AHAICIME U O|AIXA) 20,093 9,322 10,771
Al 9,324
- 10,769
101 @124 d| 2,231 1,048 1,183
Al 1,050
- 1,181
04 JI2ZtHI22NHSE+ 2,231 1,048 1,183
OogeEulizdd =< 2,231,000& 2,231
Al 1,050
2 1,181
201 Yot Y| 17,862 8,274 9,568
Al 8,274
- 9,588
01 AR 2t eld| 17,862 8,274 9,588
ot 17,862
OQUFAIDIME U JATA FARLY
7,862,000& 7,862
Al 3,574
2 4,288
CUFADIME U JATA LAFTY
10,000, 000& 10,000
Al 4,700
- 5,300
NEHE2LE 301,040 394,200 A93,160
&N E2S 301,040 394,200 A93,160
Ol &t H 2ke 84,540 79,940 4,600
201 ZEt2FH| 65,940 65,940 0
01 AtR2tel 65,940 65,940 0
ot 62,660
OUAEY JEXEN SO 2,900
Ol atE A= 18,000& 1005 1,800
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A JIE2AA
N (LMY

el MRIERY (ol M)
] _ MG =
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
S N R =R=PI=bE
11,0002 ¥ 1002 1,100
oNEAFER R0l 30,0002 *455 1,350
02013 T =ojl &t 15,300
IR HIZ 0l &H(OH) 291 50,0008 +805 4,000
NI AR ESA (2) S0l
60,0002 *80 4,800
HIZHIZOI AN S0 50,0008 %130 6,500
02012EE EINHHOA 36,000
MIRIZ 0l aH(QF) K2l
40,0002 *80 33| 9,600
NS A ESA (2) R0l
50,0002 *802 x33] 2,000
HRIZ0AA R0
40,0002 *1205 %33 14,400
OBINYWEANE 2= R0
10,0002 *80 800
OEIINUTHHHEA S0 42,0008 +802 3,360
0JIZ2EAHM () RO 11,0008 x50 550
0JIZ2EHUHAN R0 11,0002 505 550
OMEZA K& ROl 10,0002 505 500
OOIARIE Bt 1,350,000 1,350
o2g4+g 3,280
ONSTHEHE A ORIAE BA2Y
100, 00024 *58 63| 3,000
COMETIBUANSIRE ML
70,0002 *424 *13] 280
202 014 3,000 3,000 0
NETLE 3,000 3,000 0
OUAID 22t 3oEN U BEEL Y]
3,000, 0002 3,000
203 2= bl 3,000 2,000 1,000
CNEESEEST 3,000 2,000 1,000
Oy AREX 3,000, 0002 3,000
204 R 2 23 2| 12,600 9,000 3,600
03 SHYLRAY| 12,600 9,000 3,600
OSHALAY| 150, 0002 +78 x 128 12,600
HAES XD 20,000 20,000 0
303 ZT&2 20,000 20,000 0
01 ZA2 20,000 20,000 0
ONAEDZ XIS 20,000,0002 20,000
WEBIAALY 29 12,000 12,000 0
403 TIXISHRIS XH= 0| A 12,000 12,000 0




S IR
d: NYHE2Y
&2l MR E2E (e E2
A BB O(B) - NEAY - BAS sy S RS2
Ol &
02 SO &2S0ItHet 12,000 12,000 0
OXNEME 2l Al
12,000, 000& 12,000
POOL &Hl XI& 93,000 140,000 247,000
201 Yot Y| 25,000 44,000 19,000
01 At 2teltl 25,000 44,000 A 19,000
Ogr2==H|(POOL) 20,000, 000& 20,000
Oz &l (POOL) 5,000,000& 5,000
202 odd| 48,000 48,000 0
01 SLHA b 48,000 48,000 0
OZ&& 04l (Po0L) 48,000,000& 48,000
405 RHebFE S HI 20,000 48,000 A28,000
01 AL =S FSHI 20,000 48,000 A28,000
OXpat & HI| 2 20,000, 000& 20,000
FUENHMA2E 91,500 142,260 250,760
201 Yot 28,100 47,460 19,360
01 At 2teltl 23,100 47,460 A24,360
Ogr=ZH| 16,000
o Y Et=ZH| 3,000,000& 3,000
o=2ENMA M2 E 5,000,000& 5,000
oML S2HI 1,000,000& 1,000
oFCREHMA EE3 =0l
6,000,000& 6,000
oUW EES 1,000,000& 1,000
o2d+¢ 7,100
oRERAS = 20,0003 x60H »32| 3,600
o QI&El +E 70,0003 x4 x23| 560
o33 Y 70,0003 7 Z 63| 2,940
03 A2 HI 5,000 0 5,000
O=2&H =3 Mz X 5,000,000& 5,000
203 g S =&d| 2,000 2,000 0
03 A BZ=AARFX 2,000 2,000 0
O=F2EHM L 244 2,000,000 2,000
301 B2 A= 21,400 12,800 8,600
10 HAIAHIE &3 21,400 12,800 8,600
OXg?&s 29 =%
20,0003 *10€ *32| 1204 = 7,200
OFEHU L EEX = 4,200,000& 4,200
Os&EIAHE EE3 =Y 10,000,000& 10,000
307 2I2tol A 40,000 80,000 A 40,000




A I ZAA
g JgHaE=dg
e A EEE

— - &EIE
‘:‘}\—I 25 El"cl)'|(2| j:”) * }\-“—El‘—}\l'g * Jﬂgg &% 0:”/\|,o|.| 20
05 BIZt2 & = 40,000 80,000
Onlatety 29 40,000, 000& 40,000
Wol HRsEE =4 113,195 163,605
HH AHIA KR 63,770 118,460
g & HEHE JH| 4,470 23,470
201 Zer2g | 4,470 23,470
01 At 2teltl 4,470 23,470
Ogr=ZH| 3,420
oA FH(HE) U=
95,0003 32+ 12& 3,420
oz2d=¢ 1,050
o XA HEA2S 3oF AT
70,0003 x5H »33| 1,050
S8 KA 59,300 94,990
201 B2 | 48,100 83,790
01 At 2teltl 48,100 83,790
Oget=gH| 47,820
oAa3sHE 2,000,000 =154 30,000
oNEHS ALY 220,000 3« 12& 7,920
oHENER 100,000 3 62 1,800
oASBARUSE W HEH 15,0002 =100 1,500
oNMAEHEZMZ 02X 550,000& = 12& 6,600
oz2d=¢ 280
0ABAR WK ZAZ 280
gz 200,000& 1 200
=1 80,000& x1H 80
303 &3 1,000 1,000
01 A3 1,000 1,000
(OFAT==Eol=. PN ELpS =1 50,0003 x2H x10A 1,000
305 tH&a =2 S 10,200 10,200
O R== = 10,200 10,200
Ozt &3 10,000,000& 10,000
OablHAS 200, 000& 200
gols g3t 49,425 45,145
XNgols 2t XA 23t 49,425 45,145
201 L EH2FH| 44,425 40,145
01 A2 2teld| 44,425 40,145
Ogt=ZH| 32,450
o XAXIQEAEZ 50,000& x12& 600
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SN DI A
ZE: NP Pe BHAE R
el 2AAE A5 (el &2
_ _ pSNE e
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 Gl o bRz
12 JI Bt &2 20,000 20,000 0
ORI 4D B 243
20,000, 00021 * 14! 20,000
303 L& 3 300 300 0
01 &2 300 300 0
OZMYR KRBT Al4 10,0002 *3% 300
T WUESLR 29 2,460 2,460 0
201 YEr2gY| 2,460 2,460 0
01 AR 22l 1,260 1,260 0
osgy+g 1,260
oTHMB2ARAL Bl HHLY
0,0002! *3% *63] 1,260
02 ZZT2YH| 1,200 1,200 0
02222 2 AA 1,200
0OZHN MASE IBE3 442
1,200,008 1,200
4D AFEI} 2 140,310 49,265 91,045
IHULEI} 2Y 140,310 49,265 91,045
RHTI 2 132,310 49,265 83,045
201 YEr2gy| 52,190 25,495 26,695
01 AtR 22l 47,330 25,495 21,835
ogersg| 18,330
OXFMBOL AIHEAN M 80,0002 +60 4,800
OXMEI BIBIN (82,52, HE) M
30, 00024 *20 2 %43 2,400
OXIHE I BOIB DM (ASEI) HE
30,0002 #5052 +15] 1,500
o840 HH 70,0002 53] 350
oMOIL % E23 2| 400,0002! 400
oX2E M 5,00094 +1505 *43] 3,000
OB T2 ATMH 42
490, 00021 +3 #43| 5,880
Osg+g 27,000
OXIHMEIIIAS Blo EHMAY
100,000% 122 103! 2,000
ORHMTIISA MASY
100,000 %1284 x93] 10,800
OXMEIIZY MADS YA 200,000 200
OB M24Y 10,0002 x40% 4,000
OSFWIITY NAUDS ALY (NEL, 20pE
) 2,000,000 2,000
03 A2 b 4,860 0 4,860




PA I ZA
I dasse FZEI 29
el 23BN 28 (et &
SA-ZH - S2A(3AH) - MEAME - HES Ofl &4 %ggf; Blus
OXNHMEIAA A& BE 1,500,000 1,500
OAMDILt & EE3 S 1,680,000& »23] 3,360
203 g FF2H| 2,000 0 2,000
03 Al =X AR =AY 2,000 0 2,000
OEIH AHFZ 2,000,000 2,000
303 Zal= 78,120 22,700 55,420
01 Za=s 78,120 22,700 55,420
OXNHMEINRF-SRE Ald 78,120,000 78,120
DMOLE HHYFZ 8,000 0 8,000
201 L2 S| 8,000 0 8,000
01 At 22l 8,000 0 8,000
OLHTELE T A 8,000,000& 8,000
d=3 JIBHA = 1,219,960 1,097,197 122,763
= 26,299
- 1,193,661
NgETEE 2 1,135,960 1,073,997 61,963
= 26,299
- 1,109,661
FeEolmet &5 644,544 396,785 247,759
201 eS| 91,187 61,144 30,043
01 At 22l 91,187 61,144 30,043
OS/W=tl 50,967
oAl T8 Heol= 35,217,000 35,217
0HRE ATERO 2L 550,000 550
oHEHIEEY 2 S/W P& 15,200,000 15,200
OMXIZelAIAE =t 201 2 ¢80l
23,578,000 23,578
Oxbt2e NH HIIFSRE 240,000 240
O&s M2AMH & 500,000& 500
OZNRAAE 7,200,000& 7,200
OWAN JlI0lE S datd 225 7Y
8,702,000 8,702
303 Zal= 2,000 0 2,000
01 Z2&= 2,000 0 2,000
OSRAEEXNAUE 2,000,000& 2,000
307 2I2tol & 2,000 0 2,000
05 212t &= 2,000 0 2,000
ORI ENAUH 2& 2,000,000& 2,000
405 A&k SH| 549,357 335,641 213,716
01 AHMHEZHSHI 549,357 335,641 213,716




EA: JIEZAA
N MB35 J|EHH RS

ool MY (Etel: &8
_ _ _ N E
SA B G(E) - NEAY - B O & o4 e HREZ
OF A ZH 7L 516,357
oPCEH 960, 0002 +341CH 327,360
0 2LIH 250,0002 *341CH 85,250
oLES 1,250,000 *12CH 15,000
0 ZRIEI(A3EH) 819, 50021 5 77,853
0 TRIE(Z2HA3) 2,498,000 *2CH 4,996
0 TEIE (Z2HA3) L BIKIT 300, 000! *2CH 600
CESTIENECIED) 490,0002 *10CH 4,900
oAU (AL E) 199, 000! *2CH 398
OFZROIAAE e 33,000, 00084 33,000
BHYBALY 29 407,563 384,431 23,132
201 Yer2 Y| 324,494 313,128 11,366
02 BB22H| 324,494 313,128 11,366
O2% 2 SZUMH SIHAEER
11,867, 7462 %12 142,413
OUEST L #ITAFY|
51,799,02024439,001,377 90,891
OFRZMAIAE SN KX 22l
120,614,600% *0. 12 14,474
OHEHIEE SMW X248 1,042,000 1,042
OSSN L FHAD 67,175,0002 67,175
OAMZZRIAIAE SN KX 22|
10,670,0002%0. 12 1,281
OQUHHISEY L SHATENR2IALE S
MW KX 22t 60, 150,0002 %0. 12 7,218
202 01 2,400 2,400 0
01 2ULH 01| 2,400 2,400 0
OFAEH L HHA2E SN 00|
10,0002 +2% 102 + 128 2,400
203 R ETH| 1,000 1,000 0
03 Al ER QD ET Y| 1,000 1,000 0
OFBsYR Y| 1,000,0002 1,000
403 Xk XI A S XH2 0] & 79,669 67,903 11,766
02 BII 2SOl CHSHCHE ALRS b 79,669 67,903 11,766
ONZT? #EFE FMFH KX
79,669,000 79,669
NYBHDETBAI ALK 83,853 158,828 AT74,975
= 26,299
= 57,554
201 2Bre Y| 83,853 158,828 AT4,975
= 26,299
= 57,5654
01 At 221 H| 83,853 158,828 AT74,975




EA: JIEZAA
N MB35 J|EHH RS

ool NLAETES 78 (B9 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot Hlws2
OANZR? #EFLAAY o2 Al A=
77,020,0002 77,020
= 24,591
? 52,429
ONZR WHZRRAH 2EAY 2IAE
6,833,002 6,833
= 1,708
2 5,125
Mool B =7 84,000 23,200 60,800
M3 Olelc T4 84,000 23,200 60,800
201 LBt S| 84,000 0 84,000
01 AL 2r2IHI 84,000 0 84,000
O+ 3,500
02EE M 1,500,000 1,500
0IlEARE 4250002 *43)| 1,700
CHMADE 300,000 300
o2g+g 80,500
CHESNS YAR 35,0002 +2,3008] 80,500
TATHS A Xl 100,000 100,000 0
ZOIHOIAY 2 100,000 100,000 0
AT R0 MEE O ALY 100,000 100,000 0
401 A& 2 2 0H | 100,000 100,000 0
01 Al &t 100,000 100,000 0
O 7 23014 5 B o AR (POOL)
100,000,00024 100,000
ol 1 1l 6,215, 168 9,079,525 ~2,864,357
0o 1 1] 6,215, 168 9,079,525 ~2,864,357
0Bl bl 6,215,168 9,079,525 ~2,864,357
801 0fl bl bl 6,215,168 9,079,525 ~2,864,357
01 OiltI Bl 6,215, 168 9,079,525 A2,864,357
LTI 6,215,167,8512 6,215, 168
HH2AAH (D=2 A) 55,343 55,813 A470
= AB (D12 A 55,343 55,813 AA470
IIZAH MSRA (OIZ2A) 55,343 55,813 A470
201 LBr2 | 30,533 29,373 1,160
01 AL 2r2lHl 30,533 29,373 1,160
L= 54,5002 x262 * 128 17,033
ONERY 2xtE 39
OBINFFII(MARAA) 33,0008 122 39
o3| 7,000 *26% 564!« 122 13,104

_11_




SN

(]

)

| & 2 At
B HHS ARG (IHTAL)
©elr JI2ZHI(JI=2AY) (ehel: =3
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
202 (44l 19,200 18,240 960
01 S LHA bl 19,200 18,240 960
O=WHHI 10,0003 x20H x8L «12& 19,200
203 =&l 4,200 4,200 0
04 REAE2EHRFEH 4,200 4,200 0
ORM2IYSE=LH 350,000& <128 4,200
405 KtatE =S| 1,410 4,000 22,590
01 MY SZHSHI 1,410 4,000 22,590
O+ 1,410
OURE 360, 000 * 104 360
0 XEE 210, 000& *50H4 1,050
MRES (22 ALA) 4,177,544 3,402,405 775,139
SEXEOIE2ZArA) 4,177,544 3,402,405 775,139
BEXE HSAL(OIE2AA) 4,177,544 3,402,405 775,139
802 Btttz J|Et 4,177,544 3,402,405 775,139
01 =0E2x3ete3a 1,694,672 1,635,807 58,865
OZLDEXLSAHEEHH 1,694,671,825& 1,694,672
02 Al - EHIEZSEES 2,482,872 1,766,598 716,274
OANSHIEZSAHE & 2,482,871,503& 2,482,872
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